Chapter 21: Reaction, Revolution, and Romanticism (1815-1850)

Lesson 1: The Conservative Order (1815-1830)

Opening the Lesson:
1. The period between 1789 and 1815 was filled with expectation, experimentation, turmoil and war. Now, in 1815, there was disillusionment and weariness. The European royalty had triumphed over revolutionary France. Returning to power were the monarchs, the aristocrats and the elite, and their conservatism would remain a powerful force throughout the 19th Century. These conservatives tended to believe that a society guided by monarchs, aristocrats, and the clergy was time tested and best.

2. Edmund Burke was viewed as the most influential conservative philosopher of his day. He believed that people were governed more by emotions than by reason. Thus, the masses had to be controlled – Madison and the Constitution. He rejected the reforms of the French Revolution. He viewed any rapid change as suspicious, and the attempt by the middle class to grasp political power was an act by individuals who simply did not know how to rule.

3. Burke did not oppose the American Revolution. Why?

4. In order to achieve conservative goals following the overthrow of Napoleon, the leaders of the victorious powers gathered in Vienna in September 1814.

Developing the Lesson:

I. The Peace Settlement

A. The Role of the Quadruple Alliance

1. G.B., Austria, Prussia, and Austria remained united after the defeat of Napoleon.

2. Restored the Bourbon monarchy in the person of Louis XVIII.

B. The Congress of Vienna (1814-1815)—The nations and their goals.

1. Britain – Lord Castlereagh

a. Maintain the balance of power and contain Russia

b. Leniency for France

c. Strengthen Holland and Sardinia

2. Prussia – King Frederick William III

a. Expansion – Saxony

b. Become the dominant German power at the expense of Austria

3. Russia – Alexander I

a. Poland and the Dardanelles

b. The Holy Alliance

4. France – Charles Maurice de Tallyrand

a. France would get off lightly because of him and the Polish-Saxony question

1) Russia supported Prussia and Prussia supported Russia

2) Tallyrand signed a treaty with Britain and Austria in Jan., 1815, and used this to get back into the circle of great powers

b. Prussia would have punished France, but the others did not want to upset the balance of power

5. Austria – Prince Metternich

a. Metternich was Austria’s chancellor and was the dominate figure at the Congress

b. Influence the German States

c. Greatest fears were Prussia, an united Italy, and Russia

C. The Two Guiding Principles of the Congress

1. Legitimacy: meant that attention would not be paid to the desires and interests of the people but to the victorious powers

2. Stability: meant establishing and maintaining a balance of power with particular focus on restraining France – the status quo

D. What Decisions at Vienna Maintained the Principles of Legitimacy and Stability?

1. France

a. The Bourbons were restored to their throne

b. Her borders were restored to 1789 – approximately

c. She was required to return stolen art treasures 

d. Required to pay indemnity of 700m francs; cost of 100 Days

2. Prussia

a. Was given territory along the Rhine to stop future French aggression

b. Was given additional territory in what is now central Germany – Saxony

3. Russia 

a. Gained additional Polish territory at the expense of Austria and Prussia

1) Most of the Polish-speaking people were now controlled by Russia

2) Brought Russia further into the heart of Europe

b. Gained Finland at expense of Sweden

4. Austria

a. Lost Belgium which became a  part of the Netherlands

b. Was given the Italian territories of Lombardy and Venetia

5. Great Britain

a. In Mediterranean gained Malta and the Ionians

b. Gained Ceylon and the Cape of Good Hope

E. Other Territorial Decisions of the Congress

1. Norway was taken from Denmark and given to Sweden

2. German Confederation was organized with a parliament which was a meeting of diplomats and not representative

3. Bourbons were restored to Spain and Naples

4. The Kingdom of Piedmont-Sardinia gained Genoa

F. What is the Assessment of the Congress of Vienna?

1. Negative

a. People and territories were moved about like pawns on a chess board

b. Instead of dealing constructively with the emerging forces of nationalism and liberalism, the great powers either ignored or suppressed them

2. Positive

a. A balance of power was restored

b. There was no general European war for 100 years

II. The Ideology of Conservatism—Contain liberal and nationalist forces unleashed by the French Revolution

A. Edmund Burke (1729-1797)—Roots of modern conservatism.

1. Wrote Reflections on the Revolution in France.

a. Reaction against the French Revolution (esp. radical republican and democratic ideas).

b. Argued that people in society had to understand their roles.

2. Believed in the social contract theory of government.

3. But, argued against revolution.  He did support gradual change.

B. Joseph de Maistre (1753-1821).

1. Supported authoritarian conservatism.

2. Supported the restoration of a hereditary monarchy (sanctioned by God).

3. Believed that only absolute monarchy could guarantee, “order in society” and prevent the chaos of the French Revolution.

C. Conservative Beliefs.

1. Obedience to political authority.

2. Organized religion was critical to social order.

3. They hated revolution.

4. Rejected liberal demands for civil liberties and representative government.

5. The community took precedence of individual rights.

6. Society must be organized and ordered based on tradition.

7. Who supported conservative ideology?

a. Hereditary monarchs.

b. Government bureaucracies.

c. Land owning aristocracies.

d. Revived churches (Protestant and Catholic).

III. Conservative Domination: The Concert of Europe

A. The Concert of Europe

1. Why?

a. Feared the outbreak of revolution and war.

b. To maintain the status quo created at the Congress of Vienna.

c. To reaffirm the Quadruple Alliance which was created in November 1815.

2. The Holy Alliance – Sept., 1815 (created before the Quadruple Alliance).

a. Concept of Alexander I to uphold Christian principles.

b. Prussia, Austria, Russia formed the nucleus.

c. All joined except Britain and the Papal States.

a. Metternich was determined to use the alliance as an international police force that would suppress any liberal or national movements.

3. Quadruple Alliance – Nov., 1815

b. Military alliance of Britain, Russia, Prussia, Austria, and France (came in latter).

c. Its purpose was to guarantee the territorial boundaries of Europe.

d. Agreed to meet periodically in conferences to discuss their common interest and to maintain peace.

4. The Q.A. agreed to periodic meetings between 1818 and 1822.

a. 1818 Congress—held at Aix-la-Chapelle. 

1. Very congenial.

2. Agreed to end the occupation of France and add France to the Q.A.

3. The Q.A. was now the Quintuple Alliance.

b. 1820 Congress—held at Troppau.

1. Called to deal with the outbreak of revolution in Spain and Italy.

2. The Spanish revolted against the restoration of Ferdinand VII (Bourbon king).

3. Revolution broke out in Southern Italy because of the restoration of another Bourbon king (Ferdinand I).

4. Metternich, afraid that the revolution in Italy would threaten Austria’s dominance of the peninsula established the principle of intervention.

B. Intervention.

1. A policy whereby the great powers had the right to send armies into countries where there were revolutions to restore legitimate monarchs to their thrones.

2. G.B. objected. They argued that was not the intention of the Q.A.—they only agreed to intervention in France.

C. Other Congresses.

1. Jan. 1821, Austria, Prussia and Russia met at Laibach.

a. Agreed to send troops to Naples.

b. Crushed the revolution.

2. 1822 Congress—held at Verona.

a. The same three powers met again.

b. Allowed France to invade Spain to crush the uprising against Ferdinand VII. (They were victorious in the spring of 1823).

D. Results of intervention.

1. Caused the breakdown of the Concert of Europe.

2. G.B. became suspicious of the other powers and sought to block their intervention in Latin America.

E. Latin American Revolts.

1. Why?

2. Successful rebellions.

a. Argentina—1810.

b. Colombia—1819.

c. Chile—1817.

d. Mexico—1821.

e. Brazil—1822.

f. Venezuela—1830.

3. G.B. and U.S. unified to prevent the great powers from intervening in L. America.

4. The G.B. navy and the Monroe Doctrine (1823) kept the great powers from invading L. America.

F. The Greek Revolution 

1. An example of the use of intervention policy not to prevent revolution but to support it.  Why? It was in the interest of the great powers to do so.

2. The G.R. began in 1821 as an uprising against the Ottoman Turks.

3. The G.R. was supported by both Greek nationalism and romantic notions of ancient Greek greatness (in Europe and the U.S.).

4. In 1827, a combined fleet of G.B. and French ships and defeated the Turkish armada.

5. Treaty of Adrianople (1829).

a. Ended the Russian-Turkish war.

b. Russia established a protectorate over the provinces of Moldavia and Wallachia.

c. Russia, G.B. and France declared Greece an independent kingdom and placed a Bavarian prince on the Greek throne (Otto I).

6. The revolution was successful.

IV. Conservative Domination: The European States.

A. G.B.: Rule of the Tories.

1. Between 1815 and 1830 the conservative forces of Europe sought to maintain the old order.

2. How did the G.B. government maintain the old order?

a. Suffrage was limited and unequal.  Controlled by the landed gentry even though the I.R. brought significant demographic changes.

b. Parliament indirectly and some instances directly controlled the crown.

3. The landed classes dominated the Tories and the Whigs. Although the Whigs were beginning to receive some support from the new industrial middle class.

4. The Tories controlled the government until 1830 and fought strongly to maintain the old order.

5. Severe economic conditions forced the Tories to pass the Corn Laws (1815).

a. This was in response to falling agricultural prices.

b. These laws placed very high tariffs on foreign grain.

c. Landowners benefited but the price of bread increased.  This in turn hurt the working classes the most.

6. Peterloo Massacre took place in Manchester in 1819.

a. 60,000 demonstrators massed in Saint Peter’s Field.

b. They were attacked by the military and 11 people died.

c. In response, Parliament (the Tories) passed harsher measures.

i. Restricted public meetings.

ii. Illegal to pass out pamphlets to the poor.

B. Restoration in France. Louis XVIII (r. 1814-1824).

1. Louis XVIII (Bourbon family) realized that he needed to accept some changes.

2. He accepted Napoleon’s Civil Code and the principle of equality before the law.

3. The property rights of those that had bought confiscated land were honored.

4. Established a bicameral legislature.  


a. Chamber of Peers—selected by the king.


b. Chamber of Deputies—selected by an electorate  

          restricted to fewer than 100,000 wealthy people.

5. Louis XVIII was opposed by both liberal that wanted more reforms and ultraroyalists that wanted to see a return of Old Regime France—with the power of the Catholic Church returned.

6. Charles X (r. 1824-1830).


a. succeeded his brother.


b. a friend of the ultraconservatives.


c. In 1825, Charles granted an indemnity to aristocrats 

          that lost land during the F.R.


d. disputes over the power of the king, his ministers and the 

          legislature led Charles to dissolve the legislature in 1830. 7. As a result of the conservative view of Charles X, France 

    was on the brink of another revolution.

C. Intervention in the Italian States and Spain

1. The Congress of Vienna established nine Italian states.

a. Piedmont (part of Sardinia) in the north and ruled by the house of Savoy.

b. The kingdom of Two Sicilies (Naples and Sicily).

c. The Papal States.

d. Small duchies ruled by Austria as well Lombardy and Venetia.

2. Nationalist groups (often secret) organized members and pushed for independence.

3. The Carbonari (charcoal burners) pushed for revolution.

4. In Spain, Ferdinand VII, refused to accept liberal institutions and as a result, a combined group of army officers, upper-middle class merchants and liberal intellectuals led a revolt.

5. The great powers allowed France to invade, crush the revolution and restore the monarchy.

D. Repression in Central Europe.

1. Liberalism and nationalism began to emerge in the German States but they were weak movements and central Europe remained under the control of the aristocratic landowning classes and autocratic, centralized monarchies.

2. The Vienna settlement—1815.

a. Recognized 38 sovereign states (in the former H.R.E.).

b. Austria and Prussia were the two great powers.

c. Together they formed the Germanic Confederation—it was weak.

1. No real executive.

2. Power was decentralized.

3. The only centralized organ was the federal diet (needed unanimous consent for action).

4. But, the G.C. became Metternich’s instrument to repress any revolutionary movements within the German states.

3. Prussia was a bit more liberal than Austria.

a. King Frederick William III (1797-1840) followed the advice of his two chief ministers (Baron Heinrich von Stein and Baron Karl von Hardenberg) and instituted reforms.

b. They instituted a number of reforms: abolition of serfdom, municipal self-government through town councils, expansion of schools, and universal military conscription.

c. William slowly became reactionary and as a result Prussia became an absolutist state.  He did not allow for representative government and had little interest in German unification.

4. Liberal and nationalist movements in the German states were limited to university students and professors.  

5. Students organized Burschenschaften (student organizations that advocated representative government and unification). What was their motto and goals?

a. “Honor, Liberty, Fatherland.”

b. Between 1817 and 1819 the organizations burned the books of conservative authors, disrupted the lectures of professors that did not support nationalism, a student even assassinated a reactionary playwright.

c. As a result, Metternich had the German Confederation issue the Karlsbad Decrees (1819)—closed the Burschenschaften, censored the press, and placed the universities under the close supervision and control.

d. These measure allowed the conservative forces to maintain the status quo.

6. The Austrian Empire was a multinational state under a Habsburg emperor.

a. The empire was made up of 11 different nationalities.

b. Including Germans, Czechs, Magyars (Hungarians), Slovaks, Romanians, Slovenes, Poles, Serbians, and Italians.

c. The Germans (25%) of the population were the economically the most advanced and had the most political power.

d. The Habsburg dynasty, the imperial civil service, the imperial army and the Catholic Church held the empire together.

e. But, the various national groups began to push for autonomy especially the Hungarians.

f. The growing liberal belief that each national group had the right to its own system of government scared Metternich and caused him to despise both liberalism and nationalism.  Why? They threatened the unity of the multi national empire.

E. Russia: Autocracy of the Tsars.

1. In 1800, Russia was overwhelmingly rural, agricultural and autocratic.

2. The Tsar was still regarded as a divine right monarch.

3. Alexander I (r. 1801-1825) had been raised in the ideas of the Enlightenment and discussed reforms.

4. His liberal advisor was Michael Speransky.

5. They relaxed censorship, freed political prisioners, and reformed the education system.  But, refused to grant a constitution or free the serfs.

6. After the defeat of Napoleon, Alex became reactionary and secret societies were created in opposition to the Tsar.

7. The Northern Union (composed of young aristocrats that served in the Napoleonic Wars and saw the rest of Europe) wanted a constitutional monarchy and the abolition of serfdom.

8. Alexander died suddenly in 1825 and the Northern Union saw this as their opportunity to push for reforms.

9. Constantine, Alex’s brother, renounced his claims to the throne in favor of his brother Nicolas. During the confusion as to who was the real Tsar the N.U. started a revolt.

10. Known as the Decembrist Revolt—Nicolas and the army crushed it. The leaders of the Decembrists were executed.

11. The revolt caused Nicolas I (1825-1855) to transform form a conservative to a reactionary.

a. Created a secret police (Third Section). They deported suspicious people, placed surveillance of foreigners and reported on public opinion to the Tsar.

b. Nicholas became known as the Policeman of Europe because of his willingness to use the Russian military to crush revolutions in Europe.

Concluding the Lesson:
There are a multitude of documents.

